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INTERMEDIATE PART-I (1 1t CLASS)

CHEMISTRY PAPER-I v TIME ALLOWED: 3.10 Hours
SUBJECTIVE MAXIMUM MARKS: 83

NOTE: - Write same question number and its part number on answer book,
as given in the question paper.

SECTION-I
2. Attempt any eight parts. 8x2=16

€)) 23g of Sodium and 238g of Uranium have equal number of atoms in them. Justify the statement.
(i) N, and CO have the same number of electrons, Protons and Neutrons. Justify with reason.

(iii)  Define Cation. How is it formed?

(iv)  Write the names of various steps used in crystallization process of a crude substance.

W) Which solvents are mostly used in Crystallization?

(vi)  Dalton’s Law of Partial Pressure is only obeyed by those gases which do not have
attractive forces among their molecules. Explain it.

(vii) How diffusion is different from Effusion?
(viii) Charles Law is not obeyed when the temperature is measured in Celsius scale. Justify it.
(ix)  One feels sense of cooling under the fan after bath. J ustify it.
(x)  Sodium is softer than Copper but both are very good conductors of electricity. Justify with reason.
(xi)  Ionic Crystals do not conduct electricity in the solid state. Justify with reason.
(xii))  Amorphous solids like glass is also called super cooled liquids. Justify with reason.
3. Attempt any eight parts. 8x2=16
@) Give reason for the production of Positive Rays.

(i)  Give electronic configuration of ., La.

(iii)  State Moseley Law and give its importance.

(iv)  What is the origin of Line Spectrum?

) What are the causes of Chemical Combination?

(vi)  Why 2™ jonization energy is greater than 1% ionization energy?

(vii)  Bond distance is the compromise distance between two atoms. Justify with reason.
(vii) Why dipole moment of Methane is Zero?

(ix)  Define system and state function.

x) Why heat of neutralization of strong acid with a strong base is almost the same?
(xi) = What are Buffer Solutions? Why do we need them in daily life?

(xii)  Derive K. for the reaction between Organic Acid and Alcohol.

4. Attempt any six parts. 6x2=12
(i) Why freezing points are depressed due to presence of solutes?
(ii) Relative lowering of vapour pressure is independent of the temperature. Given reason.

(iii)  Compare Molar and Molal solution.

(iv)  Find Oxidation number of the element under lined (i) Cr,($0,); (ii) Na, PO,

(v)  Balance Ionic Equation by Ion Electron Method. Cr,0;? + Fe** —— Cr*? + Fe®

(vi)  Why a salt bridge maintains the electrical neutrality in the cell?
(vi))  Differentiate between Rate and Rate Constant of Reaction.
(viii) What is Chemical Kinetics?

(ix) ~ Why the Radioactive Decay is always a first order reaction?
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SECTION-II

NOTE: - Attempt any three questions of the following:-

5.(a)

(b)

6.(a)

(b)

7.(a)

(b)

8.(a)

(b)

9.(a)
(b)

10.

Ethylene Glycol has 38.7% Carbon, 9.7% Hydrogen and 51.6% Oxygen.
Its Molar Mass is 62.1g Mol'. Determine its empirical formula. 4

Define Crystalline Solids, Amorphous Solids, Unit Cell and Crystal Lattice.

Write four fundamental postulates of Kinetic Molecular Theory of gases. _ 4
Explain J.J Thomson’s experiment for the measurement of - value of electron. 4
m

Acetic Acid is weak acid with K, =1.85x 107 . Calculate % ionization of acid in 0.1 M of its
aqueous solution. How many molecules of Acetic Acid are ionized out of 1000 molecules? 3 + 1

Describe how Hess’s Law helps to find out heat of formation of CH 4+ 8as, knowing the heats of
combustions of Hy,,Cs and CH s 0 be x, y, z kj/ mole respectively. 4

What is Ionization Energy? Give factors upon which Ionization Energy depends.
How Jonization Energy varies along periods and groups. 1+1+2

What is Standard Hydrogen Electrode? Give its construction and use. 4

Explain three statements of Raoult’s Law when solute is non-volatile and non-electrolyte. 1+1+2

Describe Energy of Activation for Exothermic and Endothermic Reactions. 2+2

SECTION-II (PRACTICAL PART)
NOTE:- (i) Attempt any three parts. (3x5 =15)

(i) Write down material required, diagram and procedure
for part A & B. . (1+1+3)=5

(iii) Write down standard solution, chemical equation with mole ratio,
indicator with end point, procedure and supposed readings with
calculations for part C,D & E. (1+1+1+1+1)=5

(A) Prepare Pure Sample of Benzoic Acid by Crystallization method.

(B) Separate the mixture of Lead and Cadmium ions by paper Chromatography.

(C) The given solution contains 6.0 grams of Caustic Soda dissolved per dm®.

Find out the %age impurity of the sample.

(D) Find out the number of molecules of water of crystallization in the given sample

of Mohr’s salt of which 39.2g have been dissolved per dm®.

(E) 15.8 grams of Alkali metal Thiosulphate M,S,0, is dissolved per dm’ .

Calculate the atomic weight of metal M by Volumetric Method.
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Paper Code 2016 (S) Roll No.
6 48 1 INTERMEDIATE PART-I (11" CLASS)

Number:

CHEMISTRY PAPER-I TIME ALLOWED: 20 Minutes
OBJECTIVE MAXIMUM MARKS: 17
Note: You have four choices for each objective type question as A, B, C and D. The choice which you
think is correct, fill that circle in front of that question number. Use marker or pen to fill the circles.
Cutting or filling two or more circles will result in zero mark in that question. Attempt as many questions
as given in objective type question paper and leave others blank. No credit will be awarded in case
BUBBLES are not filled. Do not solve question on this sheet of OBJECTIVE PAPER.
Q.No.1

(1)  The mass of one mole of electrons is:- (A)1.008 mg (B)0.55mg (C)0.184mg (D)1.673 mg

(2)  The number of moles of CO, which contain 8.0g of Oxygen is:-
(A)0.25 (B) 0.50 © 10 (D) 1.50
(3)  The comparative rates at which the solutes move in paper chromatography, depend on:-

(A) The size of paper (B) R, values of solutes (C) Temperature of the experiment
(D) Size of the chromatographic tank used

(4)  The molar volume of CO, is maximum at:-

(A) STP (B)127°C and 1 atm (C) 0°C and2atm (D) 273°C and 2 atm

(5)  The deviation of a gas from ideal behaviour is maximum at:- (A) -10°C and 5.0 atm
(B) -10°C and 2.0atm (C) 100°C and 2.0 atm (D) 0°C and 2.0 atm

(6)  Water can be boiled at 25°C, when external pressure is:-
(A) 23.7 torr (B) 1489 torr (C) 760 torr (D) 100 torr

(7)  Amorphous solids:- (A) Have sharp m.pt (B) Have perfect arrangement of atoms

(C) Can possesses small regions of orderly arrangement of atoms
(D) Undergo clean cleavage when cut with knife

(8)  Quantum number values for 2 p orbitals are:-
A)yn=2,4=1 B)n=1,,=2 Cn=1,£=0 D)yn=2,4=0
(9)  Orbitals having same energy are called:-
(A) Hybrid Orbitals (B) Valence Orbitals (C) d — Orbitals (D) Degenerate Orbitals
(10) ___ molecule has zero bond order according to MOT.
(A) He, (B) H, © o, D) N,
(11)  For SP? —hybrid orbitals, bond angle is:-  (A) 120° (B) 180° (C) 109.5° (D) 107.5°
(12)  For the reaction: NaOH + HC?! — NaCl + H ,O the change in enthalpy is called:-

(A) Heat of reaction (B) Heat of formation (C) Heat of combustion (D) Heat of neutralization
(13) For ____system does the equilibrium constant, K has no units.

(A) N, +3H, == 2NH, B)H, +1I, == 2HI

(C) 2NO, == N, 0, (D) 2HF == H, +F,
(14) K, = K. when An isequalto:- (A) Zero (B)One (C)Two (D)Half
(15)  The molal boiling point constant is the ratio of the elevation in boiling point to:-

(A) Molarity (B) Molality (C) Mole fraction of solvent (D) Mole fraction of solute
(16) Ifastrip of Cu metal is placed in a solution of FeSO, - (A) Cu will be deposited

(B) Fe is precipitated out  (C) Cu and Fe both dissolve (D) Cu and Fe both precipitated

(17)  The unit of the rate constant is the same as that of the rate of reaction in:-

(A) 1* order reaction (B) IInd order reaction (C) Zero order reaction (D) HIrd order reaction
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Number:

CHEMISTRY PAPER-I TIME ALLOWED: 20 Minutes
OBJECTIVE MAXIMUM MARKS: 17

Note: You have four choices for each objective type question as A, B, C and D. The choice which you
think is correct, fill that circle in front of that question number. Use marker or pen to fill the circles.
Cutting or filling two or more circles will result in zero mark in that question. Attempt as many questions
as given in objective type question paper and leave others blank. No credit will be awarded in case
BUBBLES are not filled. Do not solve question on this sheet of OBJECTIVE PAPER.

Q.No.1

(1) K, = K. when An isequalto:- (A)Zero (B)One (C)Two (D)Half

(2)  The molal boiling point constant is the ratio of the elevation in boiling point to:-

(A) Molarity (B) Molality (C) Mole fraction of solvent (D) Mole fraction of solute
(3) Ifa strip of Cu metal is placed in a solution of FeSO, :- (A) Cu will be deposited

(B) Fe is precipitated out  (C) Cu and Fe bothdissolve (D) Cu and Fe both precipitated
(4)  The unit of the rate constant is the same as that of the rate of reaction in:-

(A) 1* order reaction (B) IInd order reaction (C) Zero order reaction (D) IlIrd order reaction
(5) The mass of one mole of electrons is:- (A)1.008 mg (B)0.55mg (C)0.184mg (D)1.673 mg
(6) The number of moles of CO, which contain 8.0g of Oxygen is:-

(A)0.25 (B) 0.50 ‘ © 1.0 (D) 1.50
(7)  The comparative rates at which the solutes move in paper chromatography, depend on:-

(A) The size of paper (B) R, values of solutes (C) Temperature of the experiment
(D) Size of the chromatographic tank used

(8) The molar volume of CO, is maximum at:-

(A) STP B)127°C andlatm (C) 0°C and2atm (D) 273°C and 2 atm

(9) The deviation of a gas from ideal behaviour is maximum at:- (A) —10°C and 5.0 atm
(B) -10°C and 2.0atm (C) 100°C and 2.0 atm (D) 0°C and 2.0 atm

(10) Water can be boiled at 25°C, when external pressure is:-
(A) 23.7 torr (B) 1489 torr (C) 760 torr (D) 100 torr

(11) Amorphous solids:- (A) Have sharp m.pt (B) Have perfect arrangement of atoms

(C) Can possesses small regions of orderly arrangement of atoms
(D) Undergo clean cleavage when cut with knife

(12)  Quantum number values for 2 p orbitals are:-
Ayn=2,l=1 @B)n=1,4£=2 Cyrn=1,4£=0 Dyn=2,£=0
(13) Orbitals having same energy are called:-
(A) Hybrid Orbitals (B) Valence Orbitals (C) d — Orbitals (D) Degenerate Orbitals
(14) ____ molecule has zero bond order according to MOT.
(A) He, (B) H, ©) 0, (D) N,
(15) For SP? - hybrid orbitals, bond angle is:-  (A) 120°  (B) 180°  (C) 109.5° D) 107.5°
(16) For the reaction: NaOH + HC{ — NaC{ + H,O the change in enthalpy is called:-
(A) Heat of reaction  (B) Heat of formation (C) Heat of combustion (D) Heat of neutralization

(17) For system does the equilibrium constant, K. has no units,
(A) N, +3H, =— 2NH, (B)H,+1, == 2HI
(C) 2NO, == N,0, (D) 2HF =— H, +F,
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Number:

CHEMISTRY PAPER-I TIME ALLOWED: 20 Minutes
OBJECTIVE MAXIMUM MARKS: 17

Note: You have four choices for each objective type question as A, B, C and D. The choice which you

think is correct, fill that circle in front of that question number. Use marker or pen to fill the circles.

Cutting or filling two or more circles will result in zero mark in that question. Attempt as many questions

as given in objective type question paper and leave others blank. No credit will be awarded in case

BUBBLES are not filled. Do not solve question on this sheet of OBJECTIVE PAPER.

Q.No.1

(1) Quantum number values for 2 p orbitals are:-

Ayn=2,4=1 B)yn=1,/¢=2 Cyn=1,£=0 DO)n=2,1=0
(2)  Orbitals having same energy are called:-
(A) Hybrid Orbitals (B) Valence Orbitals (C) d — Orbitals (D) Degenerate Orbitals
(3) ___ molecule has zero bond order according to MOT.
(A) He, (B) H, © 0, (D) N,
(4)  For SP? - hybrid orbitals, bond angle is:- (A) 120° (B) 180° (C)109.5° (D) 107.5°
(5) For the reaction: NaOH + HC? — NaC{ + H,O the change in enthalpy is called:-
(A) Heat of reaction (B) Heat of formatioh (C) Heat of combustion (D) Heat of neutralization

(6) For ____ system does the equilibrium constant, K. has no units.

(A) N, +3H, == 2NH, B) H,+1, = 2HI

(C) 2NO, = N,0, (D) 2HF == H, +F,
(7) K, = K. when An isequalto:- (A)Zero (B)One (C)Two (D) Half
(8)  The molal boiling point constant is the ratio of the elevation in boiling point to:-

(A) Molarity (B) Molality (C) Mole fraction of solvent (D) Mole fraction of solute
(9) [Ifastrip of Cu metal is placed in a solution of FeSO,:- (A) Cu will be deposited

(B) Fe is precipitated out  (C) Cu and Fe bothdissolve (D) Cu and Fe both precipitated
(10)  The unit of the rate constant is the same as that of the rate of reaction in:-

(A) 1¥ order reaction (B) IInd order reaction (C) Zero order reaction (D) IlIrd order reaction
(11)  The mass of one mole of electrons is:- (A) 1.008 mg (B)0.55mg (C)0.184mg (D)1.673 mg
(12)  The number of moles of CO, which contain 8.0g of Oxygen is:-

(A)0.25 (B) 0.50 ©) 1.0 (D) 1.50
(13)  The comparative rates at which the solutes move in paper chromatography, depend on:-

(A) The size of paper (B) R, values of solutes (C) Temperature of the experiment
(D) Size of the chromatographic tank used

(14)  The molar volume of CO, is maximum at:-

(A) STP (B)127°C and 1 atm (C) 0°C and2atm (D) 273°C and 2 atm

(15) The deviation of a gas from ideal behaviour is maximum at:- (A) —-10°C and 5.0 atm
(B) -10°C and 2.0atm (C) 100°C and 2.0 atm (D) 0°C and 2.0 atm

(16)  Water can be boiled at 25°C, when external pressure is:-
(A) 23.7 torr (B) 1489 torr © 760 torr (D) 100 torr

(17)  Amorphous solids:- (A) Have sharp m.pt (B) Have perfect arrangement of atoms

(C) Can possesses small regions of orderly arrangement of atoms
(D) Undergo clean cleavage when cut with knife
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Number:

CHEMISTRY PAPER-I TIME ALLOWED: 20 Minutes

OBJECTIVE MAXIMUM MARKS: 17
Note: You have four choices for each objective type question as A, B, C and D. The choice which you
think is correct, fill that circle in front of that question number. Use marker or pen to fill the circles.
Cutting or filling two or more circles will result in zero mark in that question. Attempt as many questions
as given in objective type question paper and leave others blank. No credit will be awarded in case

BUBBLES are not filled. Do not solve question on this sheet of OBJECTIVE PAPER.
Q.No.1

(1)  The deviation of a gas from ideal behaviour is maximum at:- (A) ~10°C and 5.0 atm

(B) ~10°C and 2.0atm (C) 100°C and 2.0 atm (D) 0°C and 2.0 atm

(2)  Water can be boiled at 25°C, when external pressure is:-
(A) 23.7 torr (B) 1489 torr (C) 760 torr (D) 100 torr
(3) Amorphous solids:- (A) Have sharp m.pt (B) Have perfect arrangement of atoms

(C) Can possesses small regions of orderly arrangement of atoms
(D) Undergo clean cleavage when cut with knife

(4)  Quantum number values for 2 p orbitals are:-
A)n=2,L=1 B)n=1,/£=2 Cyn=1,£=0 D)yn=2,£=0
(5)  Orbitals having same energy are called:-
(A) Hybrid Orbitals (B) Valence Orbitals (C) d — Orbitals (D) Degenerate Orbitals
(6) ______molecule has zero bond order according to MOT.
(A) He, ®) H, © o, ) ¥,
(7) For SP? -hybrid orbitals, bond angle is:-  (A) 120°  (B) 180° (C) 109.5° (D) 107.5°
(8) For the reaction: NaOH + HC{ — NaC{¢ + H,O the change in enthalpy is called:-

(A) Heat of reaction  (B) Heat of formation (C) Heat of combustion (D) Heat of neutralization
(9) For ____system does the equilibrium constant, K. has no units.

(A)N, +3H, == 2NH, (B)H,+1, == 2HI

(C) 2NO, == N,0, (D) 2HF =— H, +F,
(10) K, = K. when An isequalto:- (A)Zero (B)One (C)Two (D)Half
(11)  The molal boiling point constant is the ratio of the elevation in boiling point to:-

(A) Molarity (B) Molality (C) Mole fraction of solvent (D) Mole fraction of solute
(12)  Ifastrip of Cu metal is placed in a solution of FeSO, :- (A) Cu will be deposited

(B) Fe is precipitated out  (C) Cu and Fe both dissolve (D) Cu and Fe both precipitated
(13)  The unit of the rate constant is the same as that of the rate of reaction in:-

(A) 1* order reaction (B) IInd order reaction (C) Zero order reaction (D) IlIrd order reaction
(14)  The mass of one mole of electrons is:-  (A) 1.008 mg (B)0.55mg (C)0.184mg (D) 1.673 mg
(15)  The number of moles of CO, which contain 8.0g of Oxygen is:-

(A)0.25 (B)0.50 ) 1.0 (D) 1.50
(16) The comparative rates at which the solutes move in paper chromatography, depend on:-

-(A) The size of paper (B) R, values of solutes (C) Temperature of the experiment
(D) Size of the chromatographic tank used

(17) The molar volume of CO, is maximum at:-

(A) STP (B)127°C and latm (C) 0°C and2atm (D) 273°C and 2 atm
21(Obj)(VEVELEVE)-2016(S)-1500 (MULTAN)
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